H—=F VANV it EARPSR)E

TAF—A=a—
s ()
il
EE (WAEYEFA)
. " =4 7,810H
bt - OERY - B - BEY - BT - i L - N 9130
SZYTER-BRE-TY—+ '
#E 10,450
TEHE Lo SLloS
FTEBE- LeSLpi
e r 8,250
INGK - TEBENIF LN BBRE T —F
L= 9,460H
FTEHEI—X - LpSL»SHa—2X
o o + 11,110M
B - BEY - TEEXIZL» L » R BRE - FTHF—+
HE 12,3204
FA=ZK (FpS5ICKTAEWL) O—2X
¥ -O0—XbE—=7EYVER - B&EY - W@EI=X7—*F - + 15,290H
TEFENIEFLP RN BRE--TH—F B 16,500
HBER T —
AEXT—*
K-SR - ERT—F% (FOD—2X150g) - BBE=E- FH—k 10,1204
RBERT—FOa—2R
B - BEY - H 54 - @FEXT—% (EA—X150g) - BBE-FHF—+ 12,9804
eI
SELF X3HFE TCOEFH
B¥E - -0—XbE—7 - BEY - EBEY - HI(I = &38) - BEE - Hk 10,450M
WELFE X3 COEFH
B - BW-A—XbE—7 - &Y - EBY - BITFY - 13,860M

SHMEBER T —%) - BRE - KEF

M EARPIFIE



FUFAZa—

g (Bid)

T
MIEERY
W 1B - OERY - &Y - BEY - ZHEL - BAE - FH— | 3,630
S ERE
3,960
INGK - TR - BEY - SSTEB - BRE - FH—F i 6,380/
w5 b 7,590
RBER T — F Rz
. _ o 100 g 5,940
INGK - B SR RBEL - BEX T —F - BARE - TH— k
150 g 8,470
T =g [FFHIRE]
2,420/
Nk - S xR BAEE - FH— b + 4,840
w5 b 6,050/
FiE (WA EYHFA)
e 4 By K 1,81073
- OBRY -&BY - BEY - B - TwERL -
IZTEH - BAE - TH— b £ 9,130/
Wb 10,4504
BEOTELE L2 SL05
FTEBE - LeSLpS
o + 8,250
K- T EEISL el e BRE - Tk
B b 9,460
FEHEI-R - LeHLlL»ia—R
L o i 11,110M
B3 - BEY - TEENF LR 8- BAE - FY— k
Wb 12,320
2
SELE X3HAEFTOEFH
BE - BB - O—X hE—7 - BEY - B - ML = ¢ 248) - HRS - H 10,450
WESE X3HR X TOEFH
HE B -O—ZFE—7 - BEY - BY - BT -
SHIMEER T —%) - BRE - KEF 13,860
B A=a—
BFEAY
RNy - TEE-BET7SA - ETE - BOEBIT - BRE - TH—+ 3,080
BEWFIDRE
BEWVWVIBIE XT7HEETOEFRN
WEOXH - WEHOE - BT - BY - HFKE - BRLY - FBOY 6,930/

M EARPIFIE



